Q.P. Code : 13322

Third Semester B.Com. Degree Examination,
November/December 2019
(B.Com. Regular/Tourism/LS/SP)
(CBCS Scheme — Freshers)
Commerce
Paper 3.4 — FINANCIAL MANAGEMENT

Time : 3 Hours/ [Max. Marks : 70

Instructions to Candidates : Answers should be completely in English or in Kannada.
SECTION - A/ &0 - &

1.  Answer any FIVE sub-questions. Each question carries 2 marks: (5 x 2 = 10)
0d»=B)@erte DB VS-S evgdl. B3 TIM 2 wosries

(a) What is Financial Planning?
BTRy odecwdod &ac;:frqu 5P,

(b) What is profit maximisation?
UIT NORETTE DOWTERO?

() Give the meaning of cash in flow.

BT WY IS e:ac;ﬁt»‘ﬁaigl Qed.

(d) Name the four sources of working capital.
Do, T0DE VTS WOBUT BOAONYT), BZ0A.

() What do you mean by Dividend?
eRI03 HOBTEBO?

(f) What is Investment Decision?
BRABT AT 20WTeTO?

(g The investment of the project is Rs. 2,00,000. Salvage value is 15% and its
Additional W/C is 20,000. Calculate Average Investment.

odeensod sRBF Tw. 2,00,000 e;sﬁcdod M0 QUYE dfacgs Be. 15 eﬁﬁmo, %a&oga
Fo0hF U038 WoB=e% T, 20,000 ﬁ@m@ﬁ [0220 m&ﬁo.ba’% TORY LHOVD.
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SECTION - B/2ywon - 9

Answer any THREE questions, each question carries 6 marks : (3 x6=18)
CdRF)WwWTR BT BINIR eu3d. 3,3 3311 6 wozned :

2.  What do you mean by bonus shares? State the advantages of bonus shares.
WBeess® Redondd 20TTeR0? wm)ne eabﬁxaoﬁ%*ﬁg{ &892,

3. Briefly explain any six determinants of a capital structure.
WoBTY Dol Boedt TOZaR Devdss adm)TIE3R 330 e.aoémfd& RogBaN D=0

4. Delta Co. is planning to buying a machine. Two alternatives P & Q, each costing
T 50,000. You are required to call centre profitability index (PI) under 10%
Discount rate the expected cash in flows is given below :

Cash in flows )

Year Machine P Machine Q

1 25,000 42,000
2 28,000 39,000
3 31,000 36,000

Discount factor @ 10% is as below :

Year : 1 2 3

Discount factor @ 10% : 0.909 0.826 0.751

den,  sozAodn abodReITONIB),  DBeBRD 0IREBIT), TR BODNIB) HVBH
/odoo&aedﬁdssmﬁ UG T 50,000 rwein) o0Bs obodpcavdend SRcy wé B0
| $unmod vomERens

SR W BO) J)

SRE  aboRReITOHP  abhodwe@Ecn O

1 25,000 42,000
2 28,000 39,000
3 31,000 36,000

F9NT Be. 10 7R3 B30T 35000D0B H0BER oo R cBTTnne oyl Mzaﬁedaii BOBI HBOWD :
2[RF 1 2 3
3B 00 10% : 0.909 0.826 0.751
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S.

From the following information calculate operating, financial and combined
leverages.

Sales Rs. 10,00,000, Variable cost 30%, fixed cost 2,00,000, 10% Debenture
capital is 15,00,000 and tax rate is 50%.

BTt Tt3TLT 03 WoBNYOW, Fo0REBTE, BWTR ) Foodeed IRTBe IR, oo
o3ROV

BR00t3 . 10,00,000, wresrs $i3, 30%, 38 3@, Be. 2,00,000, e 10 moB3NY
woB=Y G, 15,00,000 03 301 16 50%.

Evaluate the future value at the end of five years of the following payments
at 10% rate of interest.

At the end of 1st year Rs. 6,000
At the end of 2»d year Rs. 8,000
At the end of 31 year Rs. 10,000
At the end of 4th year Rs. 12,000

At the end of 5th year Rs. 14,000
B TINT D30Ty, T3 IRFB pdodd, Scswe 10 Tod W FIRTT 5 IR
TR0 ¥TET PIH; IFPY[M), FOBO &SRO :

Se. 6,000 SAtosod SR ©oI T,
G. 8,000 20&@TE0d SR @03 B,
Se. 10,000 Soeddod SaF @033,
T. 12,000 meedod IR 9033,
g, 14,000 aasodh S 80363

SECTION - C/ % - %

Answer any THREE questions. Each answer carries 14 marks : (3 x 14 = 42)
BINT 0IRT)TBTH Joetd BRI sV & =231 14 @osnwd :

Explain in detail Goals of Financial Management.
HRTIR VBEBE0 ULl eBNYRY, BDHTZN SO

What do you mean by working capital? Explain the determinants of working
capital.
FIOLF VT WOBTIY OBTEROT? BT Soed FOTZa=0 Dedo 0BRYEY, AZ02.
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9. The information given below is related to “E” Company Ltd.
Initial investment is Rs. 2,00,000
Salvage value is 10%
Economic life of project S years

The expected profit before Depreciation and Tax is given below (PBDT)

Year PBDT
1 38,000
2 48,000
3 58,000
4 68,000
5 78,000

P.V. factor (@ 10% Disccunt rate is
Year : 2 3 4 S

P.V. Factor: 0.909 0.826 0.751 0.683 0.621

You are required to calculate ARR and N.P.V.
E 30301 2020028 S»&3000 3¢30803003T :

BABINYL Je. 2.00.000
euPs :)o’c‘)egs 10%
20D 5 IRENLD

POTIRUIT, FSTE =3 301IN038 BRTVIT =) (PBDT) 3¢¥50@080I3E

IRE ATTY o3 307iNo8
0098 o (PBDT)
1 38,000
2 48,000
3 58,000
4 68.000
5 78,000

Be. 100 38328 T -
DARE 1 2 3 4 S
B33 B0: 0.909 0.826 0.751 0.683 0.621

Soeef 3L DU TRHSOD 23200R0T K)ﬁ;ﬁ TS 3}‘?% B03) 30930 % HOIT BTST), TOWO
&BOWD.
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10. The Ranga Co. Ltd. operates its business with a equity capital of Rs. 50,00,000 of

7.

% 100 per share. Co. wants to raise further T 30,00,000 for major expansion

programme with following 4 alternative plans :

(a) All equity shares

(b)  All Debentures at 10% interest rate

(c) ¥10,00,000 from equity and X 20,00.000 from 10% Debentures

(d) ¥ 15,00,000 from equity and ¥ 15.00.000 from 10% preference shares

The Co. Tax rate is 50%. Calculate E.P.S. of each plan of E.B.IT
is ¥ 8,00,000.

dori 30T DabIT) BRI Tw. 50,00,000 te. 100Re ma’uaﬁié RED WOBTISB 00N
Rlevbl &5r&m§d% - 3T, TS0 eaa,?};ﬁd@pnaﬁ E‘:a;__;fﬁ S, 30,00,000 eﬁ%é:@o&)d% 9508
4 225 oixaezsa?ri%fmq 0WIWB RN :

(a) whd), M§Eﬁ§%{ md:aagj Aecondor SEcinmmo.

(b) W), E:S.fagﬁai% 3e. 103 mosgndon =& 0155151

(c) ©w. 10,00,000 mmqs Redonor =03 w93 T, 20,00,000&3L 3e. 100
MOBI NPT BH 0.

(d) Dn. 15,00,000@t m&aa{s Redongor =03 evdd O, 15,00,000@3t e 100 mﬁﬁ_ﬁ
ReonPor T a30ZT.

go3dad 0t @S Be. 50 whcy, EBLT. Ge. 8,00,000 esdd 38 alecwdoh B3
HedS eoyIRY (E.P.S.) 30w B0,

From the following information calculate pay-back period of both the machines
Raja and Roja.

Particulars Machine Raja Machine Roja
Cost of each machine 5,00,000 6,00,000
Life S years 6 years
Co. Tax rate » 50% S50%
PBDT (profit before Dep. & Tax)
Ist year 1,10,000 1,80,000
2nd year 1,40,000 2,10,000
3t year 1,70,000 2,40,000
4th year 1,60.000 1,90,000
5th year 1,30,000 2,00,000
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